

$$\mathcal{L}\{e^{at}f(t)\}(s) = \int_0^{\infty} e^{at}f(t)e^{-st} dt = \int_0^{\infty} f(t) \cdot e^{-st+at} dt =$$

(X)

$$= \int_0^{\infty} f(t) \cdot e^{-(s-a)t} dt = \mathcal{L}\{f(t)\}(s-a) = \boxed{F(s-a)}$$

(I)

$$\mathcal{L}\{f(at)\}(s) = \int_0^{\infty} f(at) \cdot e^{-st} dt \quad (=)$$

$$\left[\begin{array}{l} \tilde{t} = at \\ d\tilde{t} = a dt \end{array} \right] \quad \text{wegen (I)}$$

$$= \int_0^{\infty} f(\tilde{t}) \cdot e^{-s \cdot \frac{\tilde{t}}{a}} \cdot \frac{d\tilde{t}}{a} = \frac{1}{a} \int_0^{\infty} f(\tilde{t}) \cdot e^{-\frac{s}{a}\tilde{t}} d\tilde{t} = \frac{1}{a} \mathcal{L}\{f(t)\}\left(\frac{s}{a}\right)$$

$$= \boxed{\frac{1}{a} \cdot F\left(\frac{s}{a}\right)}$$

$$\mathcal{L}\{t \cdot f(t)\}(s) = \int_0^{\infty} t f(t) e^{-st} dt = \int_0^{\infty} f(t) \left[\frac{-d}{ds} e^{-st} \right] dt =$$

(VII)

$$= \int_0^{\infty} -\frac{d}{ds} [f(t) e^{-st}] dt = -\frac{d}{ds} \int_0^{\infty} f(t) e^{-st} dt = -\frac{d}{ds} F(s) = \boxed{-F'(s)}$$

(10) $y'' - 5y' + 4y = e^{3t}$ (L.), $y(0) = 2, y'(0) = 3$

2

$$s^2 Y(s) - 5y(0) - y'(0) - s(sY(s) - y(0)) + 4Y(s) = \frac{1}{s-3}$$

$$(s^2 - 5s + 4)Y(s) - 2s + 7 = \frac{1}{s-3}$$

$$(s^2 - 5s + 4)Y(s) = \frac{1}{s-3} + 2s - 7 \quad /: (s^2 - 5s + 4) = (s-1)(s-4)$$

$$Y(s) = \frac{1}{(s-1)(s-3)(s-4)} + 2 \frac{s}{(s-1)(s-4)} - \frac{7}{(s-1)(s-4)} = \frac{2}{3} \cdot \frac{1}{s-4} - \frac{1}{2} \cdot \frac{1}{s-3} + \frac{11}{6} \cdot \frac{1}{s-1}$$

$$\Rightarrow y = \mathcal{L}^{-1}\{Y(s)\}(t) = \boxed{\frac{2}{3} e^{4t} - \frac{1}{2} e^{3t} + \frac{11}{6} e^t}$$

$$\textcircled{2} \quad 2y'' + y' - y = e^{3t} \quad \{L\} \quad y(0) = 2, \quad y'(0) = 3$$

s^{-2}

$$2(s^2 Y(s) - s y(0) - y'(0)) + s Y(s) - y(0) - Y(s) = \frac{1}{s-3}$$

$$(2s^2 + s - 1) Y(s) - 4s - 8 = \frac{1}{s-3}$$

$$Y(s) = \frac{4s + 8}{2s^2 + s - 1} + \frac{1}{s-3} = \frac{1}{20} \cdot \frac{1}{s-3} - \frac{5}{4} \cdot \frac{1}{s+1} + \frac{16}{5} \cdot \frac{1}{s-\frac{1}{2}} \quad \{L^{-1}\}?$$

$$y(t) = \frac{1}{20} e^{3t} - \frac{5}{4} e^{-t} + \frac{16}{5} e^{\frac{1}{2}t}$$

$$\textcircled{2} \quad y'' + 2y' + y = e^{3t} \quad \{L\} \quad y(0) = 2, \quad y'(0) = 3$$

$$(s+1)^2 Y(s) - 2s - 5 = \frac{1}{s-3}$$

$$Y(s) = \frac{1}{16} \cdot \frac{1}{s-3} + \frac{19}{4} \cdot \frac{1}{(s+1)^2} + \frac{31}{16} \cdot \frac{1}{s+1}$$

$$y(t) = \frac{1}{16} e^{3t} + \frac{19}{4} t e^{-t} + \frac{31}{16} e^{-t}$$

asson \rightarrow $\frac{1}{s^2}$

$$\{L\} \{e^{at} f(t)\}(s) = F(s-a) \quad (f(t) = t)$$

$$\textcircled{3} \quad y'' - 2y' + y = e^{-t} \quad \{L\} \quad y(0) = 2, \quad y'(0) = 3$$

$$(s+1)^2 Y(s) - 2s - 5 = \frac{1}{s+1}$$

$$Y(s) = \frac{2}{s+1} + \frac{5}{(s+1)^2} + \frac{1}{(s+1)^3} \quad \{L^{-1}\}?$$

$$y(t) = 2e^{-t} + 5te^{-t} + \frac{t^2}{2} e^{-t}$$

$$\left(f(t) = \frac{t^2}{2} \xrightarrow{\{L\}} \frac{1}{s^3} \right)$$

asson \rightarrow $\frac{1}{s^3}$

① $y'' - y = t / \mathcal{L}\{ \cdot \} \quad y(0) = 2, y'(0) = 3$

$$(s^2 - 1)Y(s) - 2s - 3 = \frac{1}{s^2}$$

$$Y(s) = \frac{3}{s-1} - \frac{1}{s+1} - \frac{1}{s^2} \quad / \mathcal{L}^{-1}\{ \cdot \}$$

$$y(t) = 3e^t - e^{-t} - t$$

① $y'' + y' - 6y = e^{2t} / \mathcal{L}\{ \cdot \} \quad y(0) = y'(0) = 0$

$$(s^2 + s - 6)Y(s) = \frac{1}{s-2}$$

$$Y(s) = \frac{1}{2s} \cdot \frac{1}{s+3} - \frac{1}{2s} \cdot \frac{1}{s-2} + \frac{1}{s} \cdot \frac{1}{(s-2)^2} \quad / \mathcal{L}^{-1}\{ \cdot \}$$

$$y(t) = \frac{1}{2s} e^{-3t} - \frac{1}{2s} e^{2t} + \frac{1}{s} t \cdot e^{2t}$$

⑤ $y'' - 2y' + 7y = \sin t / \mathcal{L}\{ \cdot \} \quad y(0) = y'(0) = 0$

$$(s^2 - 2s + 7)Y(s) = \frac{1}{1+s^2}$$

$$Y(s) = \frac{s+3}{20(1+s^2)} - \frac{s+1}{20(s^2-2s+7)} = \frac{1}{20} \cdot \frac{s}{1+s^2} + \frac{3}{20} \cdot \frac{1}{1+s^2}$$

$$- \frac{s+1}{20[(s-1)^2 + \sqrt{6}^2]} = \frac{1}{20} \cdot \frac{s}{1+s^2} + \frac{3}{20} \cdot \frac{1}{1+s^2} - \left[\frac{1}{20} \frac{s-1}{(s-1)^2 + \sqrt{6}^2} + \frac{3}{20} \cdot \frac{1}{(s-1)^2 + \sqrt{6}^2} \right]$$

$$\Rightarrow y(t) = \frac{1}{20} \cos t + \frac{3}{20} \sin t - \frac{1}{20} e^t \cos(\sqrt{6}t) + \frac{2}{20\sqrt{6}} \cdot e^t \sin(\sqrt{6}t)$$

$$y' + y = \begin{cases} \sin t & 0 \leq t < 2\pi \\ 0 & t \geq 2\pi \end{cases} = \sin t \cdot H(t) = \sin t (H_0(t) - H_{2\pi}(t))$$

$$y' + y = \sin t \cdot (H(t) - H(t-2\pi)) = \sin t H(t) - \sin t H(t-2\pi) \quad / \mathcal{L}\{ \cdot \}$$

$$\downarrow$$

$$= \sin(t-2\pi)$$

~~Handwritten scribble~~

$$-1 + (1+s)Y(s) = \frac{1}{1+s^2} \cdot e^{-2\pi s} \cdot \frac{1}{1+s^2}$$

$$(\mathcal{L}\{f(t-a)H(t-a)\} = e^{-as} F(s))$$

$$Y(s) = \underbrace{\frac{1}{s+1}}_I + \underbrace{\frac{1}{(s+1)(1+s^2)}}_{II} - \underbrace{e^{-2\pi s} \frac{1}{(s+1)(1+s^2)}}_{III}$$

$$\underline{\text{I}}: \mathcal{L}^{-1} \left\{ \frac{1}{s+1} \right\} = e^{-t}$$

307

$$\underline{\text{II}}: \frac{1}{(s+1)(s^2+1)} = \frac{1}{2} \cdot \frac{1}{s+1} + \frac{1}{2} \cdot \frac{1}{1+s^2} - \frac{1}{2} \cdot \frac{s}{1+s^2}$$

$$\rightarrow \mathcal{L}^{-1} \left\{ \frac{1}{(s+1)(s^2+1)} \right\} = \frac{1}{2} e^{-t} + \frac{1}{2} \sin t - \frac{1}{2} \cos t$$

$$\underline{\text{III}}: \mathcal{L}^{-1} \left\{ e^{-2\pi s} \cdot \frac{1}{(s+1)(s^2+1)} \right\} = \left. \frac{1}{2} e^{-t} + \frac{1}{2} \sin t - \frac{1}{2} \cos t \right|_{t \rightarrow t-2\pi} \cdot H(t-2\pi)$$

$$\rightarrow y(t) = \text{I} + \text{II} - \text{III} =$$

$$= \left(e^{-t} + \frac{1}{2} e^{-t} + \frac{1}{2} \sin t - \frac{1}{2} \cos t - \left(\frac{1}{2} e^{-t+2\pi} + \frac{1}{2} \sin t - \frac{1}{2} \cos t \right) \cdot H(t-2\pi) \right)$$

$$\sin(t-2\pi) = \sin t$$

$$= \begin{cases} \frac{3}{2} e^{-t} + \frac{1}{2} \sin t - \frac{1}{2} \cos t & 0 \leq t < 2\pi \\ \frac{3 - e^{2\pi}}{2} e^{-t} & t \geq 2\pi \end{cases}$$

$$y'' + 3y' + 2y = \begin{cases} t & 0 \leq t < 1 \\ 2-t & 1 \leq t < 2 \\ 0 & t \geq 2 \end{cases} =$$

52
4

$$= t \cdot H_{0,1}(t) + (2-t) \cdot H_{1,2}(t) = t \cdot (H_0(t) - H_1(t)) + (2-t) \cdot (H_1(t) - H_2(t))$$

$$= t \cdot H_0(t) + (2-2t) H_1(t) + (t-2) H_2(t) =$$

$$= t \cdot H(t) - 2(t-1) H(t-1) + (t-2) \cdot H(t-2)$$

: אפ"ש \rightarrow פונקציה $f(x)$

$$(s^2 + 3s + 2) Y(s) = \frac{1}{s^2} - 2 \cdot e^{-s} \cdot \frac{1}{s^2} + e^{-2s} \cdot \frac{1}{s^2}$$

$$Y(s) = \frac{1}{(s+1)(s+2)} \cdot \left(\frac{1}{s^2} - 2e^{-s} \cdot \frac{1}{s^2} + e^{-2s} \cdot \frac{1}{s^2} \right) =$$

$$= \underbrace{\frac{1}{2s^2} - \frac{3}{4s} + \frac{1}{4s+2}}_{F(s)} \cdot (1 - 2e^{-s} + e^{-2s})$$

F(s)

$$\Rightarrow y(t) = f(t) - 2 H(t-1) f(t-1) + H(t-2) f(t-2)$$

$$f(t) = -\frac{3}{4} + \frac{1}{2}t - \frac{1}{4}e^{-2t} + e^{-t}$$

הערה

$$y(t) = \begin{cases} -\frac{3}{4} - \frac{e^{-2t}}{4} + e^{-t} + \frac{t}{2} & 0 < t < 1 \\ \frac{7}{4} + \frac{1}{2}e^{-2t} - 2e^{-t} - \frac{e^{-2t}}{4} + e^{-t} - \frac{t}{2} & 1 < t < 2 \\ \frac{1}{2}e^{-2t} - \frac{1}{4}e^{-4t} - 2e^{-t} + e^{2-t} - \frac{e^{-2t}}{4} - e^{-t} & t > 2 \end{cases}$$

: אפ"ש \rightarrow פונקציה $f(x)$

$\{x > 2\} \cup \{0 < x < 1\} \cup \{1 < x < 2\}$ \rightarrow אפ"ש \rightarrow פונקציה $y(t)$ \rightarrow פונקציה $f(x)$

: אפ"ש \rightarrow פונקציה $f(x)$ \rightarrow פונקציה $y(t)$

$$\lim_{t \rightarrow 1^-} y(t) = \frac{4e - e^2 - 1}{4e^2} = \lim_{t \rightarrow 1^+} y(t)$$

$$\lim_{t \rightarrow 2^+} y(t) = \frac{3}{4} - \frac{1}{4e^4} + \frac{3}{2e^2} - \frac{2}{e} = \lim_{t \rightarrow 2^-} y(t)$$

